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4HF |5H | 6A | 7B [8A | 9A |10A|11A[12B| 1A | 28 | 3R | £H&E:
SIES 0 0 0 0 0 0 0 2 0 0 0 0 2
BELTKREHFA 0 0 0 0 0 0 0 0 0 0 0 0 0
R+ KREFHAT 0 2 0 0 0 0 0 0 1 0 0 0 3
=L REHFAT 0 0 0 0 0 0 0 0 1 1 1 0 3
R fE+ KREFHAT 0 0 0 1 0 0 0 0 0 1 0 0 2
AW KREFFAT 0 0 0 0 0 0 0 0 0 0 0 0 0
1% % £ KREIEAT 0 0 0 0 1 0 0 0 0 0 0 0 1
&it 0 2 0 1 1 0 0 2 2 2 1 0 11
SAESE 2355 alE 4 (KD S D EFA])

4HF |5H | 6A | 7R [8A | 9A |10A|11A[12B| 1B | 28 | 3R | £H&E:
LlES 0 0 1 0 0 0 0 0 0 1 1 1 4
SAESE 24555 nI b8 (LD S A DEFA])

48 |5B | 6A | 7B [8A |98 |10A|11B[12B| 1B | 28 | 3B | £M&Et
IR 3 0 5 1 3 7 3 6 1 3 2 1 35
BELTKREHFA 6 0 5 4 6 8 4 13 8 7 3 2 66
FRELTAKREHA 0 0 1 1 0 3 0 0 0 2 0 5 12
S KRETERT 3 3 5 5 3 7 2 3 5 8 5 5 54
FRFE L AREHEAT 1 2 8| 13| 36| 14| 14 10| 11 2 8 6 125
AW £ KREFEFT 3] 10 5 71 12 9 6 7 2 4 8 4 77
1% % £ KREIEAT 6 5 5 6 4 71 11 17] 15 5 7 8 96
&5t 22 20| 34 371 64| 55| 40| 56| 42 31] 33] 31 465
IR 25 A S (L REEDFERDEFT)

48 |5B | 6A | 7B [8A | 9B |10A|11B[12B| 1B | 28 | 3B | £M&Et
IR 0 0 0 0 0 0 0 0 0 0 0 0 0
BELTKREHFR 0 0 0 0 0 0 0 0 0 0 0 0 0
FRELAKREHA 0 0 0 0 0 0 0 0 0 0 0 0 0
S KRETERT 0 0 0 0 0 0 0 0 0 0 0 0 0
P RFE L KREHEAT 0 0 0 0 0 0 0 0 0 0 0 0 0
JEW £ KREFERT 0 0 0 0 0 0 0 0 0 0 0 0 0
1% % £ KREIEFT 0 0 0 0 0 0 0 0 0 0 0 0 0
&t 0 0 0 0 0 0 0 0 0 0 0 0 0
IR 2655 F 1 EFA S (TEMOHEZDEFA)

4R |58 |68 | 7B [8A | 9A |10A|11B[12B| 1B | 28 | 3B | £#M&Et
IR 3 0 4 3 2 7 3 6 2 3 2 0 35
BELTKREHFR 3 0 5 1 4 5 3 11 7 5 2 2 48
FRELAKREHA 2 5 3 71 13| 13 5 9l 11 1 0 7 76
S L KRETERT 3 3 5 5 3 7 2 3 5 8 3 4 51
PP REHEAT 1 3 13| 12| 16 15/ 13 8 8 2 71 10 108
JEW £ KREFERT 3 4 5 7 8 6 6 6 2 4 8 4 63
1% % £ REIEFT 6 5 5 6 3 71 11 14 11 5 6 7 86
&it 21 20| 40| 41| 49 60| 43| 57| 46| 28] 28] 34 467
SANIGESE 27 FE 1A (T IEEIZF D)

4B |58 |68 | 7B [8A | 9B |10A|11B[12B| 1B | 28 | 3B | £#M&Et
EIES 0 0 0 0 0 2 0 0 0 0 0 0 2
BELTKREFRT 1 0 0 0 0 0 3 2 0 0 0 1 7
FRE L AKREHAT 0 0 0 0 1 1 0 0 1 0 1 0 4
S KREIFRT 0 0 0 0 0 0 0 0 0 0 0 7 7
R RFE L REHEAT 0 0 3 1 0 2 0 0 0 0 1 0 7
JEW £ KEFERT 0 0 0 0 0 0 0 0 0 0 0 0 0
1% % £ REIEFET 0 0 0 0 0 0 1 0 0 0 0 2 3
=1 1 0 3 1 1 5 4 2 1 0 2| 10 30




